# STRONG CONVERGENCE OF MODIFIED MANN ITERATIONS OF ASYMPTOTICALLY NONEXPANSIVE MAPPINGS IN UNIFORMLY SMOOTH BANACH SPACES

# **HONG-XIAN WANG and LIN WANG**

Department of Mathematics Kunming Teachers College Kunming, Yunnan, 650031, P. R. China e-mail: WL64mail@yahoo.com.cn

### **Abstract**

In this paper, we use the modified Mann iteration method introduced by Kim and Xu [7] to show the strong convergence for asymptotically nonexpansive mappings in uniformly smooth Banach spaces. The results presented in this paper affirmatively answered the question proposed by Kim and Xu [8].

# 1. Introduction

Let K be a nonempty closed convex subset of real normed linear space E. A mapping  $T:K\to K$  is said to be nonexpansive if  $\|Tx-Ty\|\leq \|x-y\|$  for all  $x,\ y\in K$ . A mapping  $T:K\to K$  is called asymptotically nonexpansive if there exists sequence  $\{k_n\}\subset [1,\infty),\ k_n\to 1$  as  $n\to\infty$  such that

$$||T^{n}x - T^{n}y|| \le k_{n}||x - y||$$
 (1.1)

2000 Mathematics Subject Classification: Primary 47H09; Secondary 46B25.

Keywords and phrases: strong convergence, modified Mann iteration, asymptotically nonexpansive mapping, uniformly smooth Banach space.

Received September 20, 2006

© 2006 Pushpa Publishing House

for all  $x, y \in K$  and each  $n \ge 1$ . A mapping  $T : K \to K$  is said to be uniformly asymptotically regular if  $||T^{n+1}x - T^nx|| \to 0$  as  $n \to \infty$  for all  $x \in K$ . In this paper, we use F(T) to denote the fixed point set of T, i.e.,  $F(T) = \{x \in K : Tx = x\}$ .

The interest and importance of construction of fixed points of nonexpansive mappings stem mainly from the fact that it may be applied in many areas, such as image recovery and signal processing (see, e.g., [1, 2, 13]).

Iterative techniques for approximating fixed points of nonexpansive mappings have been studied by various authors (see, e.g., [3, 5, 6, 15]), using the famous Mann iteration process or the Ishikawa iteration process.

Mann iteration procedure is a sequence  $\{x_n\}$  which is generated in the following recursive way

$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T x_n, \quad n \ge 0$$
 (1.2)

where the initial value  $x_0 \in K$  is chosen arbitrarily. However, the Mann iterations for nonexpansive mapping have only weak convergence even in Hilbert space.

Some attempts to modified the Mann iteration (1.1) so that strong convergence is guaranteed have recently been made, such as Nakajo and Takahashi [10] and Kim and Xu [7]. In [7], Kim and Xu introduced a modified Mann iteration sequence  $\{x_n\}$  in the following way: For arbitrary  $x_0 \in K$ 

$$y_n = \alpha_n x_n + (1 - \alpha_n) T x_n,$$
  
 $x_{n+1} = \beta_n u + (1 - \beta_n) y_n, \quad n \ge 0$  (1.3)

where  $u \in K$  is an arbitrary (but fixed) element in K,  $\{\alpha_n\}$  and  $\{\beta_n\}$  are two sequences in (0, 1). In uniformly smooth Banach space, they obtained the following strong convergence theorem for nonexpansive mappings.

**Theorem 1** [7]. Let C be a nonempty closed convex subset of a uniformly smooth Banach space X and  $T: C \to C$  be a nonexpansive mapping such that  $F(T) \neq \emptyset$ . Given a point  $u \in C$  and given sequences  $\{\alpha_n\}$  and  $\{\beta_n\}$  in (0, 1), the following conditions are satisfied:

(1) 
$$\alpha_n \to 0$$
,  $\beta_n \to 0$ ;

(2) 
$$\sum_{n=0}^{\infty} \alpha_n = \infty$$
,  $\sum_{n=0}^{\infty} \beta_n = \infty$ ;

$$(3) \ \sum\nolimits_{n=0}^{\infty} \big| \ \alpha_n - \alpha_{n-1} \ \big| < \infty, \ \sum\nolimits_{n=0}^{\infty} \big| \ \beta_n - \beta_{n-1} \ \big| < \infty$$

the sequence  $\{x_n\}$  is defined by (1.3). Then  $\{x_n\}$  converges strongly to a fixed point of T.

Being an important generalization of the class of nonexpansive mappings, the class of asymptotically nonexpansive mappings was introduced by Goebel and Kirk [4] in 1972, who proved that if K is a nonempty bounded closed convex subset of a real uniformly convex Banach space and T is an asymptotically nonexpansive mapping on K, then T has a fixed point.

In 2006, Kim and Xu [8] proposed whether the modified Mann iterations (1.3) can be adapted to asymptotically nonexpansive mappings similar to nonexpansive mappings in [8]. In this paper, we construct the following iteration method to approximate a fixed point of asymptotically nonexpansive mapping T: Fixed a  $u \in K$ , for arbitrary  $x_1 \in K$ 

$$y_n = \alpha_n x_n + (1 - \alpha_n) T^n x_n,$$
  

$$x_{n+1} = \beta_n u + (1 - \beta_n) y_n, \quad n \ge 1$$
(1.4)

and obtain the strong convergence of  $\{x_n\}$  under some appropriate assumptions on  $\{\alpha_n\}$  and  $\{\beta_n\}$ , which affirmatively answered the question proposed by Kim and Xu [8]. Meanwhile, we prove that the fixed point set F(T) of T is sunny nonexpansive retract of K if K is a nonempty bounded closed convex subset of a uniformly smooth Banach space E.

### 2. Preliminaries

For the sake of convenience, we restate the following concepts and lemmas.

A closed convex subset K of E is said to be *retract* if there exists continuous mapping  $P: E \to K$  such that Px = x for all  $x \in K$ . A mapping  $P: E \to E$  is said to be a *retraction* if  $P^2 = P$ . A mapping P from E onto K is said to be *sunny* if P(Px + t(x - Px)) = Px for all  $x \in E$  and t > 0. A subset K of E is said to be *sunny nonexpansive retract* of E if there exists a sunny nonexpansive retraction of E on K.

**Note.** If a mapping P is a retraction, then Pz = z for every  $z \in R(P)$ , range of P. In addition, if E is a Hilbert space, then the metric projection  $P_K$  is a sunny nonexpansive retraction from E to any closed convex subset K of E.

**Lemma 2.1** [16]. Let  $\{a_n\}$  be a sequence of nonnegative real numbers satisfying the following

$$a_{n+1} \le (1 - \beta_n)a_n + \delta_n, \quad n \ge 0$$

where  $\{\beta_n\} \subset (0,1)$  and  $\{\delta_n\}$  are such that (1)  $\lim_{n\to\infty} \beta_n = 0$  and  $\sum_{n=0}^{\infty} \beta_n = \infty$ ; (2)  $\limsup_{n\to\infty} \frac{\delta_n}{\beta_n} \le 0$ . Then  $\{a_n\}$  converges to zero.

**Lemma 2.2** [11]. Let E be a real Banach space. Then the following inequality holds: for all  $x, y \in E$ , we have

$$||x + y||^2 \le ||x||^2 + 2\langle y, j(x + y)\rangle, \quad \forall j(x + y) \in J(x + y).$$

**Lemma 2.3** [14]. Let E be a uniformly smooth Banach space and K be a convex subset of E. Let C be a nonempty subset of K and P be a retraction from K onto C. Then P is sunny and nonexpansive if and only if for each  $u \in K$  and  $q \in C$ ,  $\langle Pu - u, J(Pu - q) \rangle \leq 0$ .

**Theorem LX** [9]. Let E be a uniformly smooth Banach space, K be a nonempty bounded closed convex subset of E and  $T: K \to K$  be an

# STRONG CONVERGENCE OF MODIFIED MANN ITERATIONS ...139

asymptotically nonexpansive mapping with sequence  $\{k_n\} \subset [1, \infty)$ . Fix a  $u \in K$  and  $\{Z_n\}$  defined by

$$Z_n = \left(1 - \frac{t_n}{k_n}\right)u + \frac{t_n}{k_n}T^nZ_n,$$

where  $\{t_n\} \subset (0,1)$  is a sequence such that  $\lim_{n\to\infty} t_n = 1$  and  $\lim_{n\to\infty} \frac{k_n-1}{k_n-t_n} = 0$ . If  $\lim_{n\to\infty} \|Z_n - TZ_n\| = 0$ , then  $\{Z_n\}$  converges strongly to a fixed point of T.

# 3. Main Results

**Lemma 3.1.** Let K be a nonempty closed convex subset of a Banach space E and  $T: K \to K$  be an asymptotically nonexpansive mapping with sequence  $\{k_n\} \subset [1, \infty)$ . For a fixed  $u \in K$  and arbitrary  $x_1 \in K$ , suppose that  $\{x_n\}$  is generated by (1.4), where  $\{\alpha_n\} \subset (0, 1)$ ,  $\{\beta_n\} \subset (0, 1)$  and  $\{k_n\}$  satisfy the following conditions:

(1) 
$$\sum_{n=1}^{\infty} \beta_n = \infty$$
,  $\lim_{n \to \infty} \alpha_n = \lim_{n \to \infty} \beta_n = 0$ ;

$$(2) \ \sum\nolimits_{n = 1}^\infty {(k_n - 1)} < \infty , \sum\nolimits_{n = 2}^\infty {\left| {\,\alpha _n - \alpha _{n - 1}} \, \right|} < \infty , \sum\nolimits_{n = 2}^\infty {\left| {\,\beta _n - \beta _{n - 1}} \, \right|} < \infty ;$$

(3) 
$$\lim_{n\to\infty} \frac{\|T^n x_{n-1} - T^{n-1} x_{n-1}\|}{\beta_n} = 0.$$

If F(T) is nonempty, then  $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ .

**Proof.** Firstly, we show that  $\{x_n\}$  is bounded. Taking  $p \in F(T)$ , then

$$\| y_n - p \| \le \alpha_n \| x_n - p \| + (1 - \alpha_n) k_n \| x_n - p \|$$

$$\le k_n \| x_n - p \|$$
(3.1)

and

$$\| x_{n+1} - p \| \le \beta_n \| u - p \| + (1 - \beta_n) k_n \| x_n - p \|$$

$$\le k_n \max\{ \| u - p \|, \| x_n - p \| \}. \tag{3.2}$$

By induction, we have

$$||x_{n+1} - p|| \le k_1 k_2 \cdots k_n \max\{||u - p||, ||x_1 - p||\}.$$

Setting  $k_n - 1 = u_n$ . Thus

$$\| x_{n+1} - p \| \le (1 + u_1)(1 + u_2) \cdots (1 + u_n) \max\{ \| u - p \|, \| x_1 - p \| \}$$

$$< e^{\sum_{n=1}^{\infty} u_n} \max\{ \| u - p \|, \| x_1 - p \| \}.$$

Since  $\sum_{n=1}^{\infty}(k_n-1)<\infty$ ,  $\sum_{n=1}^{\infty}u_n<\infty$ . Therefore  $\{x_n\}$  is bounded. So are  $\{y_n\}$  and  $\{T^nx_n\}$ .

It follows from (1.4) that

$$\|y_n - T^n x_n\| = \alpha_n \|x_n - T^n x_n\| \to 0 \quad \text{as } n \to \infty,$$
 (3.3)

$$||x_{n+1} - y_n|| = \beta_n ||u - y_n|| \to 0 \quad \text{as } n \to \infty.$$
 (3.4)

Further, we have

$$||x_{n+1} - T^n x_n|| \to 0 \quad \text{as } n \to \infty.$$
 (3.5)

Secondly, we prove that  $\lim_{n\to\infty} ||x_{n+1} - x_n|| = 0$ .

$$\|x_{n+1} - x_n\| = \|\beta_n u + (1 - \beta_n)y_n - \beta_{n-1}u + (1 - \beta_{n-1})y_{n-1}\|$$

$$\leq |\beta_n - \beta_{n-1}| \|u\| + (1 - \beta_n)\|y_n - y_{n-1}\| + |\beta_n - \beta_{n-1}| \|y_{n-1}\|, \quad (3.6)$$

where

$$\| y_{n} - y_{n-1} \| = \| \alpha_{n} x_{n} + (1 - \alpha_{n}) T^{n} x_{n} - \alpha_{n-1} x_{n-1} - (1 - \alpha_{n-1}) T^{n-1} x_{n-1} \|$$

$$\leq \alpha_{n} \| x_{n} - x_{n-1} \| + |\alpha_{n} - \alpha_{n-1}| \| x_{n-1} \| + (1 - \alpha_{n}) \| T^{n} x_{n} - T^{n} x_{n-1} \|$$

$$+ |\alpha_{n} - \alpha_{n-1}| \| T^{n-1} x_{n-1} \| + (1 - \alpha_{n-1}) \| T^{n} x_{n-1} - T^{n-1} x_{n-1} \|$$

$$\leq k_{n} \| x_{n} - x_{n-1} \| + |\alpha_{n} - \alpha_{n-1}| (\| x_{n-1} \| + \| T^{n-1} x_{n-1} \|)$$

$$+ \| T^{n} x_{n-1} - T^{n-1} x_{n-1} \|.$$
(3.7)

Since  $\{x_n\}$ ,  $\{y_n\}$  and  $\{T^nx_n\}$  are bounded, there exists M>0 such that  $\max\{\|u\|, \|y_n\|, \|x_n\|, \|T^nx_n\|\} \le M$  for all positive integers n. Thus, from (3.6) and (3.7), we have

$$\|x_{n+1} - x_n\| \le (1 - \beta_n)k_n \|x_n - x_{n-1}\| + 2M |\beta_n - \beta_{n-1}|$$

$$+ 2M |\alpha_n - \alpha_{n-1}| + \|T^n x_{n-1} - T^{n-1} x_{n-1}\|.$$
 (3.8)

Since 
$$\{\beta_n\} \subset (0,1)$$
,  $\sum_{n=1}^{\infty} \beta_n = \infty$  and  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ ,  $\lim_{n \to \infty} \frac{k_n - 1}{\beta_n}$ 

= 0, i.e.,  $k_n - 1 = o(\beta_n)$ , thus there exists positive real sequence  $\{d_n\}$  such that  $k_n - 1 = \beta_n d_n$ , where  $\lim_{n \to \infty} d_n = 0$ . It follows from (3.8) that

$$\begin{split} \parallel x_{n+1} - x_n \parallel & \leq \left[ 1 - \beta_n (1 - d_n + \beta_n d_n) \right] \parallel x_n - x_{n-1} \parallel \\ & + 2M(\mid \beta_n - \beta_{n-1} \mid + \mid \alpha_n - \alpha_{n-1} \mid) + \parallel T^n x_{n-1} - T^{n-1} x_{n-1} \parallel. \end{split}$$

Since  $\lim_{n\to\infty} d_n = 0$ , there exist  $\delta \in (0, 1)$  and positive integer N such that  $1 - d_n + \beta_n d_n > \delta$  as  $n \geq N$ . Therefore, as  $n \geq N$ 

$$||x_{n+1} - x_n|| \le (1 - \delta \beta_n) ||x_n - x_{n-1}|| + 2M(|\beta_n - \beta_{n-1}| + |\alpha_n - \alpha_{n-1}|) + ||T^n x_{n-1} - T^{n-1} x_{n-1}||.$$

It follows from Lemma 2.1 that  $\lim_{n\to\infty} ||x_{n+1} - x_n|| = 0$ . In addition,

$$||x_n - T^n x_n|| \le ||x_n - x_{n+1}|| + ||x_{n+1} - T^n x_n||.$$

Further, it follows from (3.5) that  $\lim_{n\to\infty} ||x_n - T^n x_n|| = 0$ .

Finally, we show that  $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ . Since

$$\| x_n - Tx_n \| \le \| Tx_n - T^{n+1}x_n \| + \| T^{n+1}x_n - T^{n+1}x_{n+1} \|$$

$$+ \| T^{n+1}x_{n+1} - x_{n+1} \| + \| x_{n+1} - x_n \|$$

$$\le k_1 \| x_n - T^nx_n \| + k_{n+1} \| x_{n+1} - x_n \|$$

$$+ \| T^{n+1}x_{n+1} - x_{n+1} \| + \| x_{n+1} - x_n \| .$$

Therefore,  $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ . The proof is completed.

**Theorem 3.2.** Let K be a nonempty bounded closed convex subset of a uniformly smooth Banach space E and  $T: K \to K$  be a uniformly asymptotically regular and asymptotically nonexpansive mapping with sequence  $\{k_n\} \subset [1, \infty)$ . For a fixed  $u \in K$  and arbitrary  $x_1 \in K$ , suppose that  $\{x_n\}$  is generated by (1.4). If  $\{\alpha_n\} \subset (0, 1)$ ,  $\{\beta_n\} \subset (0, 1)$  and  $\{k_n\}$  satisfy the conditions as in Lemma 3.1, then  $\{x_n\}$  converges strongly to a fixed point of T.

**Proof.** Under the conditions of our Theorem 3.2, it follows from Corollary 1 in [9] that the fixed point set F(T) of T is nonempty. To show our result, let sequence  $\{Z_n\}$  be defined as in Theorem LX and we may choose that  $\{t_n\} \subset (0,1)$  satisfies the conditions as in Theorem LX,

i.e.,  $\lim_{n\to\infty}t_n=1$  and  $\lim_{n\to\infty}\frac{k_n-1}{k_n-t_n}=0$ . Since K is bounded and

$$Z_n = \left(1 - \frac{t_n}{k_n}\right)u + \frac{t_n}{k_n}T^nZ_n$$
, we have

$$||Z_n - T^n Z_n|| = \left(1 - \frac{t_n}{k_n}\right) ||u - T^n Z_n|| \to 0 \quad \text{as} \quad n \to \infty$$
 (3.9)

and

$$||Z_{n} - TZ_{n}|| \le ||Z_{n} - T^{n}Z_{n}|| + ||T^{n}Z_{n} - T^{n+1}Z_{n}|| + ||T^{n+1}Z_{n} - TZ_{n}||$$

$$\le (1 + k_{1})||Z_{n} - T^{n}Z_{n}|| + ||T^{n}Z_{n} - T^{n+1}Z_{n}||.$$

Thus, it follows from (3.9) and the uniformly asymptotically regularity of T that  $\lim_{n\to\infty} \|Z_n - TZ_n\| = 0$ . Therefore  $\{Z_n\}$  converges strongly to a fixed point of T by Theorem LX. We may set  $q = Pu = s - \lim_{n\to\infty} Z_n$ .

We claim that  $\limsup_{n\to\infty} \langle Pu-u, J(Pu-x_n) \rangle \leq 0$ 

$$\|Z_{m} - x_{n}\|^{2} = \left\| \left( 1 - \frac{t_{m}}{k_{m}} \right) (u - x_{n}) + \frac{t_{m}}{k_{m}} (T^{m} Z_{m} - x_{n}) \right\|^{2}$$

$$\leq \left( \frac{t_{m}}{k_{m}} \right)^{2} \|T^{m} Z_{m} - x_{n}\|^{2} + 2 \left( 1 - \frac{t_{m}}{k_{m}} \right) \langle u - x_{n}, J(z_{m} - x_{n}) \rangle$$

# STRONG CONVERGENCE OF MODIFIED MANN ITERATIONS ...143

$$\leq \left(\frac{t_{m}}{k_{m}}\right)^{2} \left[k_{m}^{2} \| Z_{m} - x_{n} \|^{2} + (2k_{m} \| Z_{m} - x_{n} \| + \| T^{m} x_{n} - x_{n} \|) \| T^{m} x_{n} - x_{n} \| \right] + 2\left(1 - \frac{t_{m}}{k_{m}}\right) \langle u - Z_{m}, J(Z_{m} - x_{n}) \rangle + 2\left(1 - \frac{t_{m}}{k_{m}}\right) \| Z_{m} - x_{n} \|^{2}.$$

Setting  $L_n = \frac{t_m^2}{k_m^2} (2k_m \| Z_m - x_n \| + \| T^m x_n - x_n \|)$ . Since K is bounded and

 $\lim_{n\to\infty}k_n$  =1, there exists M>0 such that  $\max\{L_n,\,k_m^2\|\,Z_m-x_n\,\|^2\}\leq M$  for all positive integers m and n. Thus we have

$$\begin{split} & 2\bigg(1-\frac{t_m}{k_m}\bigg)\langle Z_m-u,\ J(Z_m-x_n)\rangle\\ & \leq \bigg(1-\frac{t_m}{k_m}\bigg)^2 M + M\|T^mx_n-x_n\|\\ & \leq \bigg(1-\frac{t_m}{k_m}\bigg)^2 M + M(\|x_n-Tx_n\|+\|Tx_n-T^2x_n\|+\cdots\\ & + \|T^{m-1}x_n-T^mx_n\|)\\ & \leq \bigg(1-\frac{t_m}{k_m}\bigg)^2 M + M(1+k_1+k_2+\cdots+k_{m-1})\|x_n-Tx_n\|. \end{split}$$

Hence

$$\langle Z_m - u, J(Z_m - x_n) \rangle$$

$$\leq \frac{1 - \frac{t_{m}}{k_{m}}}{2} M + \frac{M(1 + k_{1} + k_{2} + \dots + k_{m-1}) \|x_{n} - Tx_{n}\|}{1 - \frac{t_{m}}{k_{m}}}.$$
 (3.10)

Letting  $n \to \infty$  in (3.10), it follows from Lemma 3.1 that

$$\lim \sup_{n \to \infty} \langle Z_m - u, J(Z_m - x_n) \rangle \le \frac{1 - \frac{t_m}{k_m}}{2} M. \tag{3.11}$$

Since K is bounded and E is uniformly smooth Banach space, the duality mapping J is norm-to-norm uniformly continuous on bounded subset of E. Letting  $m \to \infty$  in (3.11), it is easily found that the two limits can be interchanged. Therefore,  $\limsup_{n\to\infty} \langle Pu-u, J(Pu-x_n) \rangle \leq 0$ .

Finally, we show that  $\{x_n\}$  converges strongly to the fixed point Pu of T.

It follows from Lemma 2.2 that

$$\|x_{n+1} - Pu\|^2 = \|\beta_n(u - Pu) + (1 - \beta_n)(y_n - Pu)\|^2$$

$$\leq (1 - \beta_n)^2 k_n^2 \|x_n - Pu\|^2 + 2\beta_n \langle u - Pu, J(x_{n+1} - Pu) \rangle.$$

Since 
$$\{\beta_n\} \subset (0,1)$$
,  $\sum_{n=1}^{\infty} \beta_n = \infty$  and  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ ,  $\lim_{n \to \infty} \frac{k_n - 1}{\beta_n} = 0$ ,

i.e.,  $k_n-1=o(\beta_n)$ . Hence there exists positive real sequence  $\{d_n\}$  such that  $k_n-1=\beta_n d_n$ , where  $\lim_{n\to\infty} d_n=0$ . Thus

$$\|x_{n+1} - Pu\|^{2} \le (1 - \beta_{n})(1 + 2\beta_{n}d_{n} + \beta_{n}^{2}d_{n}^{2})\|x_{n} - Pu\|^{2}$$

$$+ 2\beta_{n}\langle u - Pu, J(x_{n+1} - Pu)\rangle$$

$$= [1 - \beta_{n}(1 - 2d_{n} - \beta_{n}d_{n}^{2} + 2\beta_{n}d_{n} + \beta_{n}^{2}d_{n}^{2})]\|x_{n} - Pu\|^{2}$$

$$+ 2\beta_{n}\langle u - Pu, J(x_{n+1} - Pu)\rangle.$$

Since  $\lim_{n\to\infty}d_n=0$ , without loss of generality, we may assume that  $1-2d_n-\beta_nd_n^2+2\beta_nd_n+\beta_n^2d_n^2>\frac{1}{2}$  for all positive integers n. Hence,

$$||x_{n+1} - Pu||^2 \le \left(1 - \frac{\beta_n}{2}\right) ||x_n - Pu||^2 + 2\beta_n \langle u - Pu, J(x_{n+1} - Pu) \rangle.$$

It follows from Lemma 2.1 that  $\lim_{n\to\infty} \|x_n - Pu\| = 0$ . The proof is completed.

The fixed point set F(T) of T is nonempty under the conditions in Theorem 3.2. We now prove that F(T) is sunny nonexpansive retract of K.

**Theorem 3.3.** Let K be a nonempty bounded closed convex subset of a uniformly smooth Banach space E and  $T: K \to K$  be a uniformly asymptotically regular and asymptotically nonexpansive mapping with sequence  $\{k_n\} \subset [1, \infty)$ . Then the fixed point set F(T) of T is sunny nonexpansive retract of K.

**Proof.** Since  $T: K \to K$  is an asymptotically nonexpansive mapping with sequence  $\{k_n\} \subset [1, \infty)$ , we may choose a real sequence  $\{t_n\} \subset (0, 1)$  such that  $\lim_{n\to\infty} t_n = 1$  and  $\lim_{n\to\infty} \frac{k_n-1}{k_n-t_n} = 0$ . Let sequence  $\{Z_n\}$  be defined as in Theorem LX. It is easily shown that  $\lim_{n\to\infty} \|Z_n - TZ_n\| = 0$  because T is uniformly asymptotically regular. Thus, it follows from Theorem LX that  $\{Z_n\}$  converges strongly to a fixed point of T. Let P be a mapping from K onto F(T) and  $Pu = s - \lim_{n\to\infty} Z_n$ . For each  $q \in F(T)$ , we have (the proof of Theorem 2 of [9])

$$\langle Z_m - u, J(Z_m - q) \rangle \le S_m d^2,$$
 (3.12)

where d is the diameter of K and  $S_m=t_m\,\frac{k_m-1}{k_m-t_m}\to 0$  as  $m\to\infty.$  It is

a fact that J is norm-to-norm uniformly continuous on bounded subset K of E since E is uniformly smooth Banach space. Therefore, letting  $m \to \infty$  in (3.12), for all  $q \in F(T)$  we have

$$\langle Pu - u, J(Pu - q) \rangle \leq 0.$$

It follows from Lemma 2.3 that F(T) is sunny nonexpansive retract of K and P is a sunny nonexpansive retraction from K onto F(T). The proof is completed.

### References

- F. E. Browder and W. V. Petryshyn, Construction of fixed points of nonlinear mappings, J. Math. Anal. Appl. 20 (1967), 197-228.
- [2] C. Byrne, A unified treatment of some iterative algorithms in singal processing and image reconstruction, Inverse Problems 20 (2004), 103-120.

- [3] S. S. Chang, Y. J. Cho and H. Y. Zhou, Demi-closed principle and weak convergence problems for asymptotically nonexpansive mappings, J. Korean Math. Soc. 38 (2001), 1245-1260.
- [4] K. Goebel and W. A. Kirk, A fixed point theorem for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc. 35 (1972), 171-174.
- [5] S. Ishikawa, Fixed points and iteration of nonexpansive mappings in a Banach spaces, Proc. Amer. Math. Soc. 73 (1967), 61-71.
- [6] S. H. Khan and H. Fukhar-ud-din, Weak and strong convergence of a scheme with errors for two nonexpansive mappings, Nonlinear Anal. 61 (2005), 1295-1301.
- [7] T. H. Kim and H. K. Xu, Strong convergence of modified Mann iterations, Nonlinear Anal. 61 (2005), 51-60.
- [8] T. H. Kim and H. K. Xu, Strong convergence of modified Mann iterations for asymptotically nonexpansive mappings and semigroups, Nonlinear Anal. 64 (2006), 1140-1152.
- [9] T. C. Lim and H. K. Xu, Fixed point theorems for asymptotically nonexpansive mappings, Nonlinear Anal. 22(11) (1994), 1345-1355.
- [10] K. Nakajo and W. Takahashi, Strong convergence theorems for nonexpansive mappings and nonexpansive semigroups, J. Math. Anal. Appl. 279 (2003), 372-379.
- [11] W. V. Petryshyn, A characterization of strictly convexity of Banach spaces and other uses of duality mappings, J. Func. Anal. 6 (1970), 282-291.
- [12] C. I. Podilchuk and R. J. Mammone, Image recovery by convex projections using a least-squares constraint, J. Opti. Soc. Am. A 7 (1990), 517-521.
- [13] M. I. Sezan and H. Stark, Applications of convex projection theory to image recovery in tomography and related areas, H. Stark, ed., Image Recovery Theory and Applications, Academic Press, Orlando, 1987, pp. 415-462.
- [14] N. Shioji and W. Takahashi, Convergence of approximated sequences for nonexpansive mappings, Nonlinear Anal. 30 (1997), 4497-4507.
- [15] K. K. Tan and H. K. Xu, Approximating fixed points of nonexpansive mappings by Ishikawa iteration process, J. Math. Anal. Appl. 178 (1993), 301-308.
- [16] H. K. Xu, Iterative algorithms for nonlinear operators, J. London Math. Soc. 66 (2002), 240-256.